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Graph the following conic section: C_ i c ‘L

x=2+cqst canler (9\ _?)

y=-5+sint

C“""k?\k\l\
x-a\ 4-(5‘\-5) = |

raph the following conic section: € I | i PSﬁ
X = 2cos
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Y. = 4 us éCbsf
g‘: 4 5 sint=
(enk e Sketch the graph

center: ( L' - l)

horizontal radius: 3

vertical radius: 5 1

Cartesian equation
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) +e) =

Sketch the graph
center: ( ’5’ _ |\

horizontal radius: '-’

vertical radius: Q

Parametric equation: X= 3+ qCOS {
\3 - - ' - 35‘\ n‘h

General parametric form for an ellipse or circle.

x = h + acost
y =k + bsint

center: (\m \ \L\

horizontal radius: (A

vertical radius: \D




Unit Hyperbola

Cartesian Form X Parametric Form
e'\’“\ k
x2—y2=109 s‘:‘Q-\- x=sect
'R =tant¢
ov X=lx \31' Y
X +y2 =1 0?:.?\5 x=tant
V\& y=sect
e
dovs A

Where O0<¢<217
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X= 2 +l4ec €
B= -2+ an &
ter:
cenet ( 3 ) ‘9"\ Sketch the graph
slopes of asymptotes: 4 \ [ il

Opens: it % leSk

Cartesian equation: 4=z {CHEAAL Y= -1 03CHEY

(X%Y— (b+&32= \




A= 3 ant
B= K2 <ec.

center: ( 0’ O\

slopes of asymptotes: =

Sketch the graph

opens: (xp 4-0'0Nv~

Cartesian equation;

&)+ (3

) -(%)= 1

Sketch the graph
center: ( a - ]\ grap

slopes of asymptot@® 2 | y
opens: f‘itak-l-/le(--\-
Parametric equation:
Y= Y9sec &
V=13t




General parametric form for a hyperbola.

x = h + asect x = h + atant
or
y = k + btant y =k + bsect

center: <\/\ ) ’QB

slopes of asymptotes: T b/o\

OpENS: Moyt opens: L - oy
o34 |

Solve for cost and sin¢, and then use a Pythagorean
identity to show how the parametric equation
transforms into the Cartesian form.

2z L
=3 +2cost —> X;,’é)« t
x (-3 e

=-1+35sint _o, 2 . W\)
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Conic
Section

Standard Form

Parametric Form

x = h + acost

2 2
ellipse [x—h] z{y—k] »
“ b y =k + bsint
x-hY (y—k x=h+ asect
[ a }_[ b J_l y = k+ btant
hyperbola openis horizontally opens horizontally

x =h + atant
y =k + bsect

opens vertically

Homework:
Section 12.2

pp. 505-506
13-20, 21-24 b-c, 26, 28




